APPENDICES

Appendix 1. Table Identification Errors and Sources of Errors

79

Error Types (3
Erroneous Sentence (2) ypes (3)
No (1) om Add Mif Mis Description (4) Error Sources (5)
”/\t( ”.-.(t
YETTS ] P
| was seeing some people around Aee 1. Omission of verb- ing 1. Intralingual transfer
me can spend a lot of money buy ]
1 | was seeing some people
some alcohols
around me can spend a lot of
money buying some alcohols.
Smoke until they were outing of {3 1. Addition of verb-ing 1. Intralingual transfer
2 control )
Smoke until they were out of
control




80

Sometimes people with a broken
heart was doing free sex repeatedly
without they were thinking the

effect for themselves.

2

sleee

]EQ

1. Omission preposition-about
2. Misformation of to be- was

Sometimes people with a
broken heart were doing free
sex repeatedly without they
were thinking about the effect

for themselves.

1. Intralingual transfer

2. Interlingual transfer

The causes of the broken heart are
when people have a problem in
their family especially parent
because of divorce when their
childrens still need to give more

attention.

b

£

1. Omission of suffix-s
2. Addition of suffix-s

....their = family  especially
parents because of divorce
when their children still need to

give more attention.

1. Interlingual transfer

2. Intralingual transfer




81

Love can make someone be stupid

person.

2

1. Omission of article- a

Love can make someone be a

stupid person.

1. Interlingual transfer

Because of broken heart there were

some people did suicide

2

99000

ee

1. Misordering

There were some people did
suicide because of broken

hearts.

1. Interlingual transfer

Forest fires cause the forest toburn,

thus making forest vanish

2

1. Omission of article- the

thus making the forest

vanish

1. Interlingual transfer

Bush fires caused by natural factors
can be drought, severe summer, and

lightning strike

b

1. Omission of ending- s

...and lightning strikes

1. Interlingual transfer




82

Sofia being unconditionally helpful

1. Omission of to be- was

1. Interlingual transfer

9 to others ) ) o
Sofia wasbeing unconditionally
helpful to others
Houses can be torn off their [o]® 1. Misformation of pronoun 1.Communication
foundation because the water has | strategy
) Houses can be torn off their
made its structure weaker .
10 foundation because the water
has made their structure
weaker
Tar can be been pulled off-road 1. Omission of article- the 1. Interlingual
causing major pot holes, earth can )
) ) ) ...., the earth can be sunken in
1 be sunken in creating a different

landscape

creating a different landscape




83

To see the effects after a flood is

not a pretty site.

sleee

]EQ

1. Misformation

The word site doesn’t seem to

1.Communication

strategy

12
fit this context. Consider
replacing with the word sight.
Not only the one who smoke can Ace 1. Omission of suffix-s 1. Interlingual transfer
13 get the impact of cigarettes

Not only the ones who smoke

can get the impact of cigarettes

14

Almost all ofcigarettes are made

with high nicotine.

”{"'}«

1. Addition of preposition- of

1. Intralingual transfer




84

People get addicted to the nicotine
because of the sweet taste that it

give when people inhaling the

2

”{"'}ee

1. Addition of article-the

2. Addition of verb-ing

1. Interlingual transfer

2. Intralingual transfer

15 cigarette People get addicted to nicotine
because of the sweet taste that it
gives when people inhalethe
cigarette
The taste of cigarette will be more Ace L] 1. Omission of article- the 1. Interlingual transfer
sweet. ) ) )
2. Misformation 2. Intralingual transfer
16 more sweet is compound

adjective. The correct form is
used the comparative form

(sweeter)




85

That's why mostly people choose to
smoke with thecigarette that

contain so much nicotine.

2

”{"'}ee

sleee

]EQ

1. Misformation

The word mostly doesn’t seem
to fit this context. The

appropriate form is “most”

1. Intralingual transfer
2. Intralingual transfer

3. Interlingual transfer

17
2. Addition of preposition-
with
3. Omission of suffix-s in word
cigarette
But most people don't know that Ace 1. Omission of article-a 1. Interlingual transfer
nicotine on cigarette is very
18 But most people dont know

dangerous for our body.

that nicotine on acigaretteis

very dangerous for our body.




86

The effects of nicotine can't happen Ace L] 1.Misformation 1. Interlingual

2

right away, but it will effecting ) ) o
o The word “effecting” 1is | 2. Communication
people’s life in the future. ]
incorrect form. The correct one | strategy

is “affect”
2. Omission -s

The word c‘life’ is incorrect

form. The correct form is ’lives’

The effects if we consume too Ace 1.0mission of suffix-s in word | 1. Interlingual transfer

2

much nicotine It can ruin our lung, lung.

and our respirator won't be healthy .- .
eeffects if we consume too

due to smoking too much. L. .
much nicotine It can ruin our

lungs




And also the lack affection of

parents are cause children who act

1. Omission of preposition-of

arbitrarily
21 And also the lack of affection
of parents are cause children
who act arbitrarily
So they tend to take arbitrary 1. Misformation: The | 1. Intralingual transfer
actions to students who have lower preposition “to” is incorrect
social status. form. Changing to the correct
29 form “against”

So they tend to take arbitrary
actions against students who

have lower social status.

1. Intralingual transfer




88

Playing around are part of the lives

of most students

sleee

]EQ

1. Misformation

To be are in this sentence is

incorrect form. The correct

1. Intralingual transfer

23 _ _
form is to be-is
Playing around is part of the
lives of most students
Bullying which often occurs such ARG 1. Addition of pronoun- which | Intralingual transfer
as physical violence, bad words, )
_ ] Bullying often occurs such as
23 teasing and other acts of violence

physical violence, bad words,
teasing and other acts of

violence




89

Bullying can be harmful and
dangerous to victims, and can also

have a bad impact of the bullying

sleee

]EQ

1. Misformation

The  preposition  (of) is

incorrect here. The correct

1. Intralingual transfer

perpetrators. L
preposition is on .
25
Bullying can be harmful and
dangerous to victims, and can
also have a bad impact on the
bullying perpetrators.
Many peoples still underestimate {0 1. Addition of suffix-s 1. Intralingual transfer
wearing sunscreen. ) ]
26 Many people still underestimate

Wearing sunscreen.




Not only when we are in outdoors,

1. Addition of preposition -in

”{"'}R
but even we are in the house alone Not I " )
ot only when we are in
wearing sunscreen IS necessary d but "
outdoors, but even we are the
21 because sunlight can enter from house alone wearing sunscreen
anywhere.
W IS necessary because sunlight
can enter from anywhere.
Sunspot will appear and stains 1. Ommison of suffix-s 1. Intralingual transfer
around the face are often exposed = . d stai
08 to sunlight, unspots will appear and stains
around the face are often
exposed to sunlight.
We can look older or had a AL 1. Addition of article-a 1. Intralingual transfer
wrinkled as a result of not wearing
29 We can look older or had

sunscreen.

wrinkled as a result of not

wearing sunscreen.

1. Intralingual transfer




91

So, from those impact, that’s why
we have to use sunscreen every day

to avoid those impacts.

2

1. Omission of suffix-s

So, from those impacts, that’s

1. Intralingual transfer

30 why we have to use sunscreen
every day to avoid those
impacts.
Recently, Indonesian news media Ace 1. Omission of to be- was 1. Interlingual transfer
shocked by thick smoke in Riau. )
31 Recently, the Indonesian news
media was shocked by thick
smoke in Riau.
Thousand-hectare forests is burned, L..]" 1. Misformation: 1. Intralingual transfer
and it makes some negative impact . o
o The preposition for is incorrect
32 for people in Riau.

here. the correct form is

preposition- on




92

1. Omission of suffix-s

1. Intralingual transfer

33 These are  some These are some negative
impactbecause forest fire impactsbecause forest fire
This situation L... 1. Misformation: 1. Intralingual transfer
teachersbecomeworry because the ) )
_ Verb worry is a subject
students of twelve grade will face )
) o _ _ complement  following the
national and it is very disturbing ) )
) _ linking verb become. Changing
34 their concentration.

to the past participle form

(worried).

This situation makes teachers

become worried, ..




93

The second effect is economy of
Riau  decreased  significantly

especially because the airport was

2

1. Omission preposition-of

The second effect is economy

1. Intralingual transfer

35 ) of Riau decreased significantly
closing. ]
especially because of the
airport was closing.
The last is many people especially el g 1. Omission of article-a 1. Intralingual transfer
childrens get disease like acute R ] )
_ ) ) 2. Addition of suffix -s 2. Intralingual transfer
36 respiratory tract infections,
pneumonia, asthma, and skin The last is many people
irritation. especially children get
adisease,...
{0 1. Addition of verb-ing 1. Intralingual transfer
Therefore, there are  many Therefore, there are many
37 prohibitions for us to smoke prohibitions for us to smoke
because if we smoking it will have because if we smoke it will

a bad impact on health.

have a bad impact on health.




94

36

Smoking is a behavior that is
harmful to health, especially for
women, when a women is a
smoker, active or passive this will

cause several deadly diseases.

sleee

]EQ

1. Misformation

Women refers to plural of
woman. The correct form is

woman.

...., When a woman is a
smoker, active or passive this
will cause several deadly

diseases

1. Intralingual transfer

39

It caused by increased
concentrations of greenhouse gases

in the atmosphere.

2

1. Omission of to be- is

It is caused by increased
concentrations of greenhouse

gases in the atmosphere

1. Interlingual transfer




95

40

Global warming causing many

undesirable effects.

sleee

]EQ

1. Misfromation

The verb causing is incorrect
form. The correct form is

‘causes’

Global warming causes many

undesirable effects.

1. Intralingual transfer

41

One of the most significant effects
of global warming is climate

changes.

”{"'}"

”['"

]((

1. Misformation

To be (is) in this phrase is
incorrect form. The correct

form is “are”
2. Addition of suffix-s

One of the most significant
effects of global warming is

climate changes.

1. Intralingual transfer

2. Intralingual transfer




96

Flood is overflow of water on

normally dry ground.

2

1. Omission of article- a

1. Intralingual transfer

42 Flood is an overflow of water
on normally dry ground.
The main reason is Jakarta floods {0 1. Addition of preposition-to 1. Intralingual transfer
are so devastating, Jakarta is - . i< Jakart
e main reason is Jakarta
43 sinking to beneath sea level. floods are so devastating
Jakarta is sinking beneath sea
level.
Aee .« | 1. Omission of article- the 2. Intralingualtransfer
They quickly fill up causing 2. Misordering 2. Interlingual transfer
rainwater to overflow drainage b ] ]
44 They fill up quickly causing

system and flood the roads.

rainwater to overflow the
drainage system and flood the

roads.




97

Air pollution is the substances or

1. Misformation:

1. Intralingual transfer

”{"'}R
gases that could harm to the living _
_ _ o The phrase “harm to” is
beings dwelling on the earth within _ )
unnecessarily wordy. Replacing
the atmosphere. ) )
the noun with corresponding
45 verb (Harm)
Air pollution is the substances
or gases that could harm the
living beings dwelling on the
earth within the atmosphere.
In other words, air pollution {0 1. Addition of suffix-es 1. Intralingual transfer
considered is as a gases or ] )
_ 1 In other words, air pollution
substances which has a damaging ) ]
o _ considered is a gas or
46 effect on living organisms as well

as on the environment.

substance  which has a
damaging effect on living
organisms as well as on the

environment.




98

This type of pollution is caused by
several factors, such as burning of

fossil fuels like coal and petroleum

1.0mission of article-the

This type of pollution is caused

1. Intralingual transfer

47 by several factors, such as the
burning of fossil fuels like coal
and petroleum
L] 1. Misformation 1. Intralingual transfer
Exhaust from  factories and Decreasing is incorrect verb
industries that decreasing the form. The correct form is
48 quality of air decrease.

Exhaust from factories and
industries that decrease the

quality of air




99

In addition, air pollution causes L] 1. Misformation 1. Intralingual transfer
poor visibility which lead to the . o .
o _ Article ‘the’ in this sentence is
decreasing in the tourism sector. _
incorrect form. The correct

form is article ‘a’

In addition, air pollution causes
poor visibility which leads to a

decreasing in the tourism

sector.
Big event or a buildup of a smaller ae | g e 1. Omission or article- a 1. Interlingual transfer
stressful life situations may trigger
y e 2. Addition of suffix-s 2. Intralingual transfer

excessive anxiety
A big event or a buildup of a
smaller stressful life situation

may trigger excessive anxiety




100

51

Where now smartphones already
has many sophisticated features.
With sophistication of

smartphones today

2

”{"'}ee

1. Addition of suffix-s
2. Omission or article- the

Where  now  smartphone
already has many sophisticated
features. With the
sophistication of smartphones

today

1. Intralingual transfer

2. Interlingual transfer

52

The first reason is because it can

reduce the immune system

”]ee

1.Misformation

The conjuction because is the
wrong word choice after reason
iIs. Change to the correct word
‘that”.

The first reason is that it can

reduce the immune system

1. Intralingual transfer




101

Overweight or obesity problems
arise when we eat foods with

calories and fat levels in excess of

e

.]EQ

1. Misformation; the phrase ‘in
excess of” may be wordy.

Changing the word using

1. Intralingual transfer

the required amount ‘over’.
53
Overweight or obesity problems
arise when we eat foods with
calories and fat levels over the
required amount
There are lot of problems caused Aee 1. Omission of article- a 1. Intralingual transfer
54 by this dangerous fluid.
There are a lot of problems
caused by this dangerous fluid.
Liver becomes swollen because it Aee 1. Omission of article-the 1. Interlingual transfer
contains too much fluid. )
55 The liver becomes swollen

because it contains too much
fluid.




102

One of our eye is absolute can be
blind because of alcohol.

2

1. Omission of suffix-s

1. Intralingual transfer

56 One of our eyes is absolute can
be blind because of alcohol.
They will get menopause sooner [o]® 1.Misformation: the word then | 1. Intralingual transfer
then the period in general. in this sentence is incorrect. The
correct word is than.
57
They will get menopause
sooner than the period in
general.
Alcohol that comes into the body of Ace 1. Omission of preposition ‘on” | 1. Interlingual transfer
regnant women also has an
l_o : _ j Alcohol that comes into the
impact their baby, so that they will
58 body of pregnant women also

be born with disabilities.

has an impact on their baby, so
that they will be born with

disabilities.




103

Because the person is experiencing
homelessness, this may put

profound strain  on personal

2

1. Omission of article-a

Because  the  person is

1. Intralingual transfer

59 ) _ experiencing homelessness, this
relationships ]
may put a profound strain on
personal relationships
He most important thing to do for L.]" 1. Misformation of subject 1.Communicatioin
prevention is to protect the river or : _ strategy
) ) _ The most important thing to do
60 ditch environment, the river should Y
o for prevention is to protect the
be well maintained. ; i )
river or ditch environment, the
river should be well maintained.
In densely populated areas and the A 1. Omission preposition -on 1. Intralingual transfer
hillside which can exacerbate
61 In densely populated areas and

flooding.

the on hillside which can
exacerbate flooding.




104

Therefore, we are  always

encouraged to isolate independently

2

1. Omission of suffix-s

1. Interlingual transfer

Therefore, we are always
62 for 2 week. ,
encouraged to isolate
independently for 2 weeks
Arini really likes fast food, one of IR G 1. Addition to be -is 1. Intralingual transfer
which she likes is instant noodles. N ]
63 Arini really likes fast food, one
of which she likes instant
noodles.
Basically, the preservatives that U0 L I IO 1. Addition article -the 1. Intralingual transfer
have this flavor enhancing ability is
J 5 2. Misformation of to be -is 2. Intralingual transfer
64 allowed to be used.

Basically, preservatives that

have this flavor-enhancing

ability are allowed to be used.




105

"Monosodium Gluten (MSG)" is a
very dangerous compound found

2

1. Omission preposition- in

"Monosodium Gluten (MSG)"

1. Intralingual transfer

65 instant noodles. _
is a very dangerous compound
found in instant noodles.
If this condition is left continuously L0 1. Addition of article -a 1. Intralingual transfer
for a long period of time, it is the ) o )
] 4 If this condition is left
country that will lose because it ) )
T _ ) continuously for a long period
66 will indirectly a affect its economic ) ¥
o of time, it is the country that
capabilities. ’ ] )
will lose because it will
indirectly affect its economic
capabilities.
Unused calories are then converted .« | 1. Misordering of adverb 1. Interlingual transfer
into fat in the body, thus making a )
) _ o Unused calories are then
67 person gain weight until finally

obesity

converted into fat in the body,
thus making a person gain

weight until obesity finally.




106

However, from this policy there are
also many parties that are not ready

to carry out learning via distance or

”{"'}'e

1. Addition of conjunction

However, from this policy,

there are also many parties are

1. Intralingual transfer

68 what is known as online )
not ready to carry out learning
via distance or what is known
as online
Many people are unable to 1. Omission of preposition- to 1. Intralingual transfer
participate in distance learning
o o 1 Many people are unable to
69 activities due the limited ability of

the community

participate in distance learning
activities due to the limited

ability of the community




107

Meanwhile, the quota used to

access the internet must be

sleee

]EQ

1. Misformation of conjunction

Meanwhile, the quota used to

access the internet must be

1. Intralingual transfer

70
purchased at a cost which is still purchased at a cost that is still
high for some children. high for some children.
[..]* 1. Misformation preposition -to | 1. Intralingual transfer
Reporting from UNICEF, Reporting to UNICEF,
71 increasing the time students learn increasing the time students

and socialize online on the internet

can increase the risk of harm.

learn and socialize online on the
internet can increase the risk of

harm.




108

The number of active users of
social media in Indonesia has grew

by 10 million people which is

sleee

]EQ

1. Misformation of verb

Grew should be grown

1. Intralingual transfer

72 really huge number The number of active users of
social media in Indonesia has
grown by 10 million people
which is really huge number
Social Media is the main platform Aee 1. Omission of suffix -s 1. Interlingual transfer
to communicate remotely, one of . o )
Social Media is the main
the most common example of .
73 platform to  communicate

Social Media is WhatsApp.

remotely, one of the most
common examples of Social
Media is WhatsApp.




109

Which is if people overuse it there L] 1. Misformation of adjective 1. Intralingual transfer

are negative effects that are L .
Which is if people overuse it

someone will become so introvert ) )
there are negative effects that is

they lose their confident to )
someone will become so

socialize in their environment ) )
introvert  they lose their
confidence to socialize in their

environment

Someone will become anti-social Aee 1. Omission of article -the 1. Interlingual transfer

2

where they prefer to be alone all the ) )
Someone will become anti-

time and avoid crowd. )
social where they prefer to be
alone all the time and avoid the

crowd.




110

Someones will be addictive to

1. Addition of suffix -s

1.Communication

wleedd | pleee]®
social media they can’t get out . . o strategy
) _ ] 2. Misformation of adjective
from the circle of using social .
) ) ) 2. Intralingual transfer
76 media Someone will be addicted to
social media they can’t get out
from the circle of using social
media
It becomes their dopamine that’s foo 1. Addition of article- an 1. Interlingual transfer
mean they will be so happy if using ] ]
) ) _ ] It becomes their dopamine
77 it and be again and again addictive

that’s mean they will be so
happy if using it and be again

and again an addictive




111

We can’t avoid Social Media, it is
so useful if we use is wisely and
social media is also the main

platform to communicate each

2

1. Omission of preposition-

with and for

We can’t avoid Social Media, it

is so useful if we use is wisely

1. Intralingual transfer

8 other which is so helpful us ) o
and social media is also the
main platform to communicate
with each other which is so
helpful for us
Diah did went home very late last e | g 1. Omission of article-the 1. Intralingual transfer
night after taking her father to o ‘ )
) 2. Addition of verb ‘did” 2. Interlingual transfer
emergency room for diarrhea.
79 Diah went home very late last

night after taking her father to
the emergency room for

diarrhea.




112

Her tyre got flat, so she had to

e

1. Misformation of noun

1. Intralingual transfer

atch it
80 P Her tire got flat, so she had to
patch it
The oil is unable to escape and {0 1. Addition of suffix -s 1. Intralingual transfer
swelling occurs that's why a
J Y The oil is unable to escape and
81 pimples will appear.
swelling occurs that's why a
pimple will appear.
Besides that, the causes of acne is {0 1. Addition of suffix -s 1. Intralingual transfer
hormonal changes.
82 : Besides that, the cause of acne
Is hormonal changes.
She had a hobby was watched a {0 1. Addition of to be -was 1. Intralingual transfer
horror movie before going to sleep
83 She had a hobby watched a

horror movie before going to

sleep




113

Sweet taste makes people who eat
it will be addicted to eating it again,

it's also can build a person's mood

2

1. Omision of article- the

The Sweet taste makes people

1. Interlingual transfer

84 who eat it will be addicted to
eating it again, it's also can
build a person’'s mood
Just like humans, animals also face G 1. Misformation of verb 1. Intralingual transfer
some devastating affects of air _ _
85 _ Just like humans, animals also
pollution )
face some devastating effects of
air pollution
Toxic chemicals present in the air Ace 1. Omission of article -a 1. Interlingual transfer
can force wildlife species to move ) ) )
86 Toxic chemicals present in the

to new place

air can force wildlife species to

move to a new place




114

The growth of social media
nowadaysreally extreme as part of
the growth of technology.

2

1. Omission of to be- is

The growth of social media

1. Interlingual transfer

87 nowadays isreally extreme as
part of the growth of
technology.
It is really good for people if they LT 1. Misformation of preposition | 1. Intralingual transfer
can take advantages from using it is really good for people if
88 social media wisely and normally.

they can take advantage of
using social media wisely and

normally.




115

We know those some people
whether they are teenager or adult

can be suffering from social media

2

sleee

]EQ

1. Omission suffix -s

2. Misformation

1. Interlingual transfer

2. Intralingual transfer

89 addiction. We know that some people
whether they are teenagers or
adults can be suffering from
social media addiction.
There are some causes that can SLn]® 1. Misformation verb-ing 1. Intralingual transfer
make people suffering from social
90 There are some causes that can

media addiction.

make people suffer from social

media addiction.




116

91

We know that teenagers or children
don’t know exactly or can’t think
wisely what will happen to their
psychological side in their age if
they see too much information in
the internet through social media

platform.

2

sleee

]EQ

1. Omission of preposition-

about (about what);

2. Misformation: preposition in
is incorrect form. The correct

one it should be on

We know that teenagers or
children don’t know exactly or
can’t think wisely about what
will happen to their
psychological side in their age
if they see too much
information on the internet
through the social media
platform.

1. Intralingual transfer

2. Intralingual transfer




117

As a result, they will communicate

or interact to peoples through

”{"'}ee

sleee

]EQ

1. Addition of suffix -s

2. Misformation of preposition

1. Intralingual transfer

2. Intralingual transfer

social media
92 )
As a result, they will
communicate or interact with
people through social media
Technology and internet is Ace 1. Omission of article -the 1. Interlingual transfer
something the most important in ] )
93 _ Technology and the internet is
life today. ) )
something the most important
in life today.
Technology and internet offer Ace 1. Omission of article -the 1. Interlingual transfer
excitement and pleasure for people )
Technology and the internet
94 that they can’t find in real life.

offer excitement and pleasure
for people that they can’t find in

real life.




118

using social media networks with Ace L] 1. Omission of preposition -by | 1. Intralingual transfer

2

good technology and the internet, . . .
By using social media networks

people can interact and _
) o ) with good technology and the
communicate or socialize with ] )
internet, people can interact and

people from other countries or ) o )
communicate or socialize with

people that they never met before. ]
people from other countries or
people that they never met

before.

They can connect to their idol, At 1. Omission of verb gives 1. Intralingual transfer
artist, or important people which o
_ They can connect to their idol,
pleasure or a new experience to . .
artist, or important people
them. ) )
which gives pleasure or a new

experience to them.




119

When they can’t control that

excitement it will give an effect to

sleee

]EQ

1. Misformation of preposition

When they can’t control that

1. Intralingual transfer

| their life. _ T
excitement it will give an effect
on their life
Health problem including heart Ace 1. Omision of suffix -s 1. Interlingual transfer
disease, obesity, and diabetes are . .
] _ _ Health problems including
becoming more widespread iIn : _
08 _ heart disease, obesity, and
developed countries. ) )
diabetes are becoming more
widespread in  developed
countries.
Lifestyle choices are important Ace 1. Omission of article -the 1. Interlingual transfer
and major cause of poor health in ) _
_ Lifestyle choices are the
99 developed countries.

iImportant and major cause of
poor health in developed

countries.




120

It is perhaps easier and cheaper to
follow and unhealthy diet

2

1. Omissiion of article -an

1. Intralingual transfer

100 It is perhaps easier and cheaper
to follow an unhealthy diet
They will continue on for {0 1. Addition of preposition-on 1. Intralingual transfer
101 generations o come. They  will  continue for
generations to come.
These problem could cause Ace 1. Omision of suffix -s 1. Intralingual transfer
harmful long-term effects to future
o _ These problems could cause
generations in terms of disease and
102 harmful long-term effects to

a higher cost of living

future generations in terms of
disease and a higher cost of

living




121

Yoga can be do by various thing,

such as music therapy and yoga

2

sleee

]EQ

1. Omision of suffix -s

2. Misformation of verb

1. Intralingual transfer

2. Intralingual transfer

103 poses.
Yoga can be done by various
things, such as music therapy
and yoga poses.
By doing the music therapy, your LAt 1. Omission of suffix -s in verb | 1. Intralingual transfer
mind become peace
104 P By doing the music therapy,
your mind becomes peace
Apart from that, yoga can be do by LT 1. Misformation of verb 1. Intralingual transfer
some sort of meditation.
105 Apart from that, yoga can be

done by some sort of

meditation.




122

By doing the healthy activity, you
will make a healthy life.

sleee]”

1. Misformation of article

1. Intralingual transfer

106 By doing a healthy activity,
you will make a healthy life.
Researchers has found that coffee NG 1. Misformation of verb 1. Intralingual transfer
have some benefits t0 human’s
107 Researchers has found that
healthy. .
coffee has some benefits to
human health.
Coffee also been found to protect A 1. Omission of auxiliary verb 1. Intralingual transfer

Coffee has also been found to
protect them




Appendix 2. Total Types of Errors
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Types of Error Aspect of errors Frequency Percentage
Omission of article 22 18 %
Omission of preposition 6 5%
Omission of to be 6 5%
Omission of pluralization 17 14%
3 2%
Omission of verb
Omission
Total 54 44. %
Double marking 3 2%
Addition Regularization 7 6 %
Simple addition 18 15%
Total 28 23%
Regularization error 19 15%
Misformation Archi-forms 12 10 %
Alternating form 6 5%
Total 37 31%
Misordering 3 2%
Total Accumulation 122 100




Appendix 3. Total Sources of Errors
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No

Sources of Errors

Frequency Percentage
1 | Interlingual Transfer 35 29 %
2 | Intralingual Transfer 82 67%
3 | Communication Strategy 5 4%
122

100




